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[ SECTION 1 - MULTIPLES AND FACTORS

1. What is the smallest multiple of any non-zero whole number?
A)O B) One C) Both

2. How many prime numbers are there between 30 and 507
A)7 B) 5 C)4

3. How many prime numbers are there between 45 and 65?
A)7 B)5 C)4

4. How many composite numbers are there between 10 and 25?
A) 12 B) 10 C)11

5. Which pair of numbers is a twin prime pair?
A) (41, 43) B) (37, 39) C) (47, 49)

6. Which of the following pairs are co-prime?
A)8and 14 B)5and 11 C)9and 15

7. Which of the following numbers is divisible by both 4 and 6?
A) 36 B) 64 C) 52

8. Which of the following numbers is divisible by both 9 and 127
A) 72 B) 81 C) 60

9. Which of the following numbers is divisible by 5, 10, and 157?
A) 50 B) 75 C) 150

10. Which of the following numbers is divisible by 3, 9, and 27?
A) 81 B) 54 C) Both A & B

11. Which of the following statements is true about a composite number?
A) It has only two factors. B) It has more than two factors.
C) It has no factors.

12. How many prime numbers are there between 100 and 120?
A)4 B) 6 C)5

13. How many prime numbers are there between 70 and 100?
A) 6 B) 5 C)7

14. How many composite numbers are there between 50 and 65?
A) 10 B) 11 C) 13



15. Which is NOT a property of twin primes?
A) They differ by 2. B) Both numbers must be odd.  C) Both numbers must be even.

16. Which twin prime pair comes after (17, 19)?
A) (23, 25) B) (29, 31) C) (37, 39)

17. Which of the following numbers is divisible by 6 and 8?
A) 24 B) 36 C) 78

18. Which of the following numbers is divisible by both 2 and 15?
A) 45 B) 60 C) 75

19. Which of the following numbers is NOT divisible by 7, 11, and 13?
A) 91 B) 154 C) 186

20. Which of the following numbers is NOT divisible by 5, 6, and 10?
A) 30 B) 50 C) 60

[ SECTION 2 - DECIMAL NUMBER

5 .
21. Convert 45 to a decimal:

A) 4.625 B) 4.58 C) 4.75

22. Convert 5 % to a decimal:

A) 5.2 B) 5.4 C)5.5

23. Convert 3 % to a decimal:

A) 3.55 B) 3.65 C) 3.75

5 .
24. Convert 75 to a decimal:

A) 7.85 B) 7.625 C) 7.58

25. What is the sum of 5.9 and 8.67?
A) 14.5 B) 14.6 C) 15.4

26. What is the sum of 10.12 and 6.28?
A) 16.50 B) 16.50 C) 16.40

27.Add 0.99, 0.88 and 0.77 .
A) 2.63 B) 2.64 C) 2.65

28. Calculate the sum of 45.6, 32.4 and 11.8..
A) 89.7 B) 89.8 C) 89.9



29. A car traveled 25.65 miles in the morning and 18.35 miles in the afternoon. How far did
the car travel in total?

A) 45.00 miles B) 43.00 miles C) 44.00 miles

30. A factory produces 124.25 units of product A and 178.75 units of product B. What is the
total number of units produced?

A) 304.00 units B) 302.00 units C) 303.00 units

31. A tailor cuts three pieces of cloth for a dress. The lengths of the pieces are 1.75 meters,
2.35 meters, and 1.45 meters. What is the total length of cloth used?

A) 5.55 meters B) 5.45 meters C) 5.65 meters

32. Priya spent 125.75 X on pins, 78.50 X on nuts & 56.25 X on pots. How much Priya spent?
A) 260.50% B) 260.40 X C) 260.45 X

33. What is 11.50 - 3.75?
A) 7.65 B) 7.75 C) 7.55

34. What is 13.75 - 6.60?
A) 7.25 B) 7.05 C) 7.15

35. What is 9.40 - 4.35?
A) 5.25 B) 5.05 C) 5.15

36. What is 14.90 - 7.50?
A) 7.50 B) 7.40 C) 7.30

37. John had %60.00. He bought a jacket for X28.75 and a pair of shoes for X18.90. How
much money does he have left?

A) X12.25 B) X13.25 C) X12.35

38. A runner completed 15.50 kilometers on the first day and 8.75 kilometers on the second
day. How many more kilometers did the runner complete on the first day?

A) 6.85 kilometers B) 7.00 kilometers C) 6.75 kilometers

39. A student scored 78.45 marks in math, 65.35 marks in science, and 89.25 marks in
English. How many more marks does the student need to score 250.00 total?

A) 17.95 B) 16.95 C) 18.05

40. The total weight of a box was 45.56 kg. After removing some items weighing 12.34 kg,
what is the remaining weight of the box?

A) 33.22 kg B) 33.23 kg C) 33.24 kg



[ SECTION 3 - MEASURING TIME

41. Convert 7:30 AM to the 24-hour clock.
A)17:30 B) 07:30 C) 19:30

42. Convert 12:15 PM to the 24-hour clock.
A) 12:15 B) 00:15 C) 22:15

43, Convert 11:59 PM to the 24-hour clock.
A) 23:59 B) 00:59 C) 22:59

44. Convert 12:30 AM to the 24-hour clock.
A) 23:30 B) 12:30 C) 00:30

45, Add 4 hours 35 minutes to 3 hours 25 minutes. What is the total time?
A) 8 hours 60 minutes B) 8 hours 10 minutes C) 8 hours

46. Add 4 hours 10 minutes to 3 hours 40 minutes. What is the total time?
A) 8 hours 00 minutes B) 7 hours 50 minutes C) 6 hours 50 minutes

47. Add 6 hours 50 minutes to 8:20 PM. What is the time?
A) 3:10 AM B) 2:10 AM C) 4:10 AM

48. Add 3 hours 30 minutes to 11:50 AM. What is the time?
A) 4:10 PM B) 2:10 PM C) 3:20 PM

49, Subtract 2 hours 15 minutes from 6 hours 50 minutes. What is the result?

A) 4 hours 35 minutes B) 4 hours 30 minutes C) 5 hours 15 minutes

50. Subtract 1 hour 20 minutes from 5 hours 10 minutes. What is the result?
A) 3 hours 40 minutes B) 3 hours 50 minutes C) 3 hours 30 minutes

51. Subtract 3 hours 15 minutes from 2:30 AM ?
A)11:15 PM B) 5:45 AM C) 1:15 PM

52. Subtract 1 hours 15 minutes from 5:30 PM ?
A) 4:25 PM B) 6:45 PM C) 4:15 PM

53. A class starts at 9:10 AM and ends at 12:40 PM. How long was the class?
A) 3 hours 20 minutes B) 3 hours 10 minutes C) 3 hours 30 minutes

54. A meeting starts at 10:00 AM and finishes at 12:30 PM. How long did the meeting last?
A) 2 hours B) 2 hours 30 minutes C) 3 hours



55. A student spends 2 hours 45 minutes in the library, 1 hour 30 minutes in the lab, and 30
minutes on a break. How much total time did the student spend on these activities?

A) 4 hours 45 minutes B) 4 hours 30 minutes C) 4 hours 15 minutes

56. A train departs from the station at 5:10 PM and arrives at its destination at 8:30 PM. The
train takes a 20-minute break during the journey. What is the total time the train spent
traveling, excluding the break?

A) 3 hours 00 minutes B) 3 hours 10 minutes C) 3 hours 20 minutes

57. A person started reading a book at 4:15 PM and finished at 6:45 PM. How long did the
person read?

A) 2 hours B) 2 hours 15 minutes C) 2 hours 30 minutes

58. A person watched TV from 8:30 PM to 11:00 PM. How long did the person watch TV?
A) 2 hours 15 minutes B) 2 hours 30 minutes C) 3 hours

59. A train left the station at 7:45 AM and arrived at its destination at 11:30 AM. The journey
was delayed by 45 minutes. What was the original time of arrival at the destination before
the delay?

A) 11:15 AM B) 11:00 AM C) 10:45 AM

60. A meeting was scheduled to end at 4:30 PM but ran for an additional 45 minutes. If the
meeting originally started at 2:15 PM, at what time did the meeting actually end?

A) 5:00 PM B) 5:15 PM C) 5:30 PM

[ SECTION 4 - PROBLEMS ON MEASUREMENT

61. Add X 3 and 60 paise with X 16 and 85 paise.
A) %20 and 25 paise B) %20 and 35 paise C) %20 and 45 paise

62. Subtract X 8 and 50 paise from X 18 and 40 paise.
A) X9 and 90 paise B) X9 and 80 paise C) X9 and 70 paise

63. Subtract 27.65 meters from 80.00 meters.
A) 52.25 meters B) 52.35 meters C) 52.45 meters

64. Add 13.85 meters and 42.55 meters.
A) 56.30 meters B) 56.40 meters C) 56.50 meters

65. Add 25.75 kg and 30.25 kg.
A) 56.00 kg B) 56.25 kg C) 56.50 kg

66. Subtract 8.25 kg from 15.75 kg.
A) 7.80 kg B) 7.75 kg C) 7.50 kg



67. Add 15 litre 275 millilitre and 10 litre 475 millilitre.
A) 25 litre 750 millilitre B) 25 litre 700 millilitre C) 25 litre 500 millilitre

68. Subtract 8 litre 800 millilitre from 12 litre 200 millilitre.
A) 3 litre 000 millilitre B) 3 litre 400 millilitre C) 3 litre 300 millilitre

69. Add 15 km 350 m and 9 km 650 m.
A) 25 km 000 m B) 24 km 050 m C) 24 km 100 m

70. Subtract 10 km 600 m from 25 km 900 m.
A) 15 km 200 m B) 15 km 300 m C) 15 km 400 m

71. A person has X150 and 75 paise. He spends X75 and 50 paise on a book. How much
money does he have left?

A) X75 and 25 paise B) X75 and 50 paise C) X76 and 25 paise

72. An item costs X125 and 60 paise. If you pay with X200, how much change will you get
back?

A) %74 and 50 paise B) 74 and 40 paise C) X74 and 60 paise

73. A piece of wire is 18.4 meters long. If 6.25 meters of it is cut off, what is the length of the
remaining wire?
A) 12.15 meters B) 12.25 meters C) 12.35 meters

74. A rope is 12.5 meters long. If another rope of 7.3 meters is added to it, what is the total
length of the two ropes?

A) 19.7 meters B) 19.8 meters C) 19.9 meters

75. A sack of potatoes weighs 12 kg 800 g and a sack of onions weighs 7 kg 200 g. What is
the total weight of both sacks?

A) 20 kg 000 g B) 20 kg 100 g C)20 kg 200 g

76. A bucket of paint weighs 10 kg 500 g. After using 4 kg 250 g of paint, how much paint
remains in the bucket?

A)6kg300g B)6kg250¢g C)6kg500g

77. A container holds 7 litres 200 millilitres of juice. After pouring out 3 litres 500 millilitres
of juice, how much juice remains in the container?

A) 3 litres 700 millilitres ~ B) 3 litres 800 millilitres C) 3 litres 500 millilitres

78. A jug contains 3 litres 500 millilitres of water. If you add 2 litres 250 millilitres of water to
it, what is the total amount of water in the jug?

A) 5 litres 250 millilitres ~ B) 5 litres 500 millilitres C) 5 litres 750 millilitres



79. A car travels 120 km 250 m on the first day and 80 km 750 m on the second day. What is
the total distance the car has traveled over both days?

A) 201 km 250 m B) 201 km 500 m C) 201 km 000 m

80. A truck has traveled 400 km 250 m. After completing a route of 150 km 750 m, how
much distance remains to be covered?

A) 249 km 500 m B) 249 km 700 m C) 249 km 250 m

[ SECTION 5 - PERIMETER AND AREA

81. The perimeter of a circle is also known as what?
A) Diameter B) Circumference C) Radius

82. Which formula is used to calculate the area of a rectangle?
A) Length x Width B) 2 x (Length + Width) C) Side x Side

83. What is the formula for the perimeter of a square?
A) 4 x Side B) Side x Side C) 2 x (length + width)

84. What unit is associated with the perimeter of a square or rectangle?
A) Square units (e.g., cm?, m?) B) Linear units (e.g., cm, m)
C) Cubic units (e.g., cm3, m3)

85. Find the perimeter of a square whose side is 9 m.
A) 45 m B) 27 m C)36 m

86. The side length of a square is 25 cm. What is its perimeter?
A) 75 cm B) 100 cm C)50cm

87. The length and width of a rectangle are 15 m and 10 m. What is its perimeter?
A) 40 m B) 70 m C)50m

88. What is the perimeter of a rectangle with a length of 30 m and a width of 15 m?
A)90 m B) 75 m C)120m

89. A square has a side length of 8 cm. What is its area?
A) 16 cm? B) 32 cm? C) 64 cm?

90. Find the area of a square whose side is 12 cm.
A) 120 cm? B) 144 cm? C) 60 cm?

91. If the length of a rectangle is 25 cm and the width is 18 cm, what is its area?
A) 300 cm? B) 400 cm? C) 450 cm?

92. The length of a rectangle is 40 cm, and its width is 25 cm. Find the area.
A) 800 cm? B) 900 cm? C) 1,000 cm?



93. A square plot of land measures 32 m on each side. What is the total perimeter of the
plot?
A) 128 m B) 96 m C)64m

94. A square field has sides of 40 m. What is the length of fencing required to surround it?
A) 160 m B) 140 m C) 120 m

95. The perimeter of a rectangular field is 64 m. If its length is 20 m, what is its width?
A)10 m B) 16 m C)12m

96. A rectangular notice board has a length of 1.5 m and a width of 0.75 m. What is its
perimeter?

A)3m B)4.5m C)6m

97. A square office has a side length of 20 feet. What is the area of the office?
A) 300 ft? B) 400 ft2 C) 500 ft2

98. The side of a square classroom is 18 feet. What is its area?
A) 324 ft? B) 300 ft2 C) 270 ft2

99. A rectangular table has a length of 2 meters and a width of 1.5 meters. What is the area
of the table?

A) 2.5 m? B) 3 m? C) 3.5 m?

100. The length of a rectangular park is 30 meters, and the width is 20 meters. What is the
area of the park?

A) 600 m? B) 700 m? C) 800 m?
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